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for(int i=0;i<
printf("%.4f\n",tan((n+1i) * PI / 180));
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return 0:
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return is_palindrome(left, right - 1);
else if(str[left] != strlrightl)

return 0;
else

return is_palindrome(left + 1, right - 1);
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int dice(int n, int int cnt,

{

int ret =
if (cnt > n)
{

if (sum ==

return 1;

return 0;
}
for(int 1 = 1; i <= 6; i++)

{

ret += dice(n, m, cnt+1 ,

}

return ret;

nt main()

int n, m;

scanf("%d %d", ¢
printf("%d",dice(n,
return 0;
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sum+i) ;
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int

overlap(int n, int m, i
if (n == 0 ||

int a o[
if (n % 10 == m % 10) {
a = overlap(n /7 10, m / 10, 1 + 1);

int b = overlap(n /
if (L >b) b= L;
int ¢ = overlap(n,
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int p
int q
return q;

int main()

{

int n, m;

scanf("%d %d", &n, &m);
printf("%d", overlap(n, m, 0));
return 0;
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 char *carr; double *darr;
« carr = (char*)malloc(sizeof(char)*5);
« darr = (double*)malloc(sizeof(double)*5);
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(int**) malloc (sizeof (int*)*height) ;

for (int i=0; i<width; i++) {

}

arr([i]

= (int*)malloc(sizeof (int) *width) ;

&(arr[i][j]) == =(arr + i) +j
arr[i][j] = =( =(arr +i) +j)

arr[0][0] = »*arr = x(x(arr+0) +
0)
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